T 50 b o %'ﬁ Subtracdo de decimais (3 digitos)

Nome: Encontro: Data: Pontuacao:

9.995 0.801 9.911
—6./84 —-7.894 -9.519
5.937 2.299 2.764
—-6.981 —5.888 —5.558
1.628 9.118 4.392
—-8.762 —-8.353 -3.74
2.222 5.137 6.722
—9.808 —2.267 —7.5006
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T 50 b Iy, =

Subtracdo de decimais (3 digitos)

Nome:

9.995
—6./84
3,211

5.937
—0.981

—-1,044

1.628
—8.7/62

—-/,134

2.222
—9.808

—-7,586

Encontro: Data:

0.801
—-7.894

—7,093

2.299
—5.888

-3, 589

9.118
—-8.353
0, 765

5.137
—2.267
2,87
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Pontuacao:

9.911
-9.519
0,392

2.764
—5.558
-2,794

4.392
-3.74
0,652

6.722
—7.500
-0,7/84
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